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RAMANUJAN MATHEMATICS CLUB, SALUR

9" MATHEMATICS TALENT TEST - 2009
X CLASS (Upto November Syllabus)

: Date : 29-11-2009
NaME e Max. Marks : 50

SONOO! e s b Time : 9 am. - 10 am.

AnSoe) : 1) SoDALOD BBS SRR, Ao 1,2,3 San 4 ot L8 Q1 G arbods
© DY SoRgD SBtm b, ey, & FHabIB, §8 KOG SERGREKBE 1 Bnch,

2) HB S SEREHBBIGE) 1/4 By Doeo Bndye Kol SdSabud.
3) D% NSreritvOw SRtyen KXY,

1) f={(xa), (b), (z,)} 50 f-'=g @00 gl= mvvvrrerrccscrn
f={(x’a)’ (y’b)a (Z,C)} and f-1=g then g-1= ...................
1) {xX) (vy) @2} 2 {xa)(yb)(ze} 3) {abc} 4) {(@x (by) (2}

2
| 2) x‘/;=\/x_"(x¢1) ®oDS x+ll 2 ererenreesesssens
X

21

x+1

0 2) 1 3) 2 4)3

| 3) 1241224132 4. #19% 4202 = oo

1) 385 2) 2485  3) 2870  4) 3255

It Ped434. +n’
_ 4) n—oo = eeeccaccrccens

1 n 1
1) 3 25 3) - 4) 1
[| 5) f(x)=logx eowd f(x)H(y)=........ ; Iff(x) =log x then f{x)+f{y) =...........
1) fixsy) 2) fe-y) 3 fo). 4 f(%)
6) B 5B oGS .ovvnreenens % ameseses.

The solution of a quadratic equation is an example for ...............

1) Conjunction: 653363&30 2) Implication; ®3oASo

3) Disjunction; 35&y&0 4) Bi-implication; &xswgroongo
7)  n(A)=4 580 n(B)=3 wond Aol BéKe [Hibdires 599 Sonogre S0gGevees

Ifn(A)=4 and n(B)=3 then the number of relations from A to B which are not functions is............

1) 4015 2) 4096 3) 81 4) 64 gzl
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x% =\/-x7(x¢ 1) then :




8) x=l+a+a’+...o0y=1+b+b?+....0 as6cm bew
ESodITen ®onBd 1+ ab+ab? +......00=

If x=1+a+a’+...0,y=1+b+b?+

nnnnnnnnnnnnn

proper fractions, then 1 +ab +a2b? +......c0=.........._.
Xy X+ x? +y? X
1) 2) X+y 3 XY ;
X+y-1 ) X~y ) X-y 4) X=-y~-1

9) ab,co o ‘m’ HH95w ab+be=—ca wons a’,b’,c? o St ..........
If the mean of a,b,c is ‘m’ and ab+bc=-ca then the mean of a’,b%,c? is....
1) m? 2) 3m? 3) 6m?  4)9m?

10) (x+a)'® +(x-a)® GBS’ Swre J08y ..........
Total.number of terms in the expansion of (x +a)'® + (x—a)"®is
1) 101 2) 50 3) 51 4) 202

11) A—2B=(l 5) SoBD 2A—3B=(_§ ;) ®and B=.................

37

15 : -25 -
A—ZB= 2A—3B= =
If (3 7) and ( 0 7) then B=.................

n (%9 2 (%5 ) B3 w6

12) A=(: :) S8 a,b,c,deow @dorsos® eodl Ak ... S @
If A =(: Z) and a,b,c.d are in proportion then Aisa .............. matrix

1) Singular; doges 2) Non-Singular; B
3) Symmetric; 3"@6 4) Identity; &)
' o ' a"+b"
13) a08d5w be @o8KAS Hifen 2 b @S N DD ...ooevvneennnne

n n

1fthe AM.ofaand b is ;—i—l% then value of n is ............

1) -1 2) 0 3) 1 4) None; Hos%

14) ©o8(B46% 95 5o 0 ewowi, 295 HBAD 195 JPe QY «.vvev--- |
Ifthe 9th term of an A.P. is 0, then the ratio of its 29th term and 19th term is....... __-

1) 1:2 2) 2:3 3) 3:2 4) 2:1 |
15) 358 eth (Hers Sogge HiisKdo.....; Mediun of first six prime numbers......
Vs 2) 6 3) 7 4) None; 5353%53@
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W QD Kgdrearen; Two are always similar.

1) Squares; S&HBRre 2) Rectangles; 636&:6@&
3) Triangles; |HgHesoen 4) None; HBsee

a" - b"% a-b DFlorr erACHS n ek
a" —b" is divisible by a-b if n is

1) Positive Even Integer; &5 ROJ°Y Jogy 2) Positive Integer; 535573 Sogg
3) Positve Odd Integer; &% BReE Homyg 4) None; Dbsees

~(PQ) =, '

1) PV(~q) 2) PA(~Q)  3) ~pAaq 4) P=>(~q)
n(4) =70, n(A) =20, n(B) =30, n(A ~B) =10 ®oxs n(A'NBY=

If n(x)="70, n(A) =20, n(B) =30, n(A ~B) =10 then n(A'NB")=

1) 30 2) 60 - 3) 50 4) 40.

X, 2x+2, 3x+3e0 Kes(B8S S0, ®ond x=

If x, 2x+2, 3x+3 are in G.P. then the value of x is

1) 4 2) -4 4) None; DBsetH
2, 2, 3, 3, 4, 4o epSVES0

Node of the data 2, 2, 3, 3, 4, 4 is

1) 2 2 3 3) 4 4) 4Doesn't exist; éegégéos"éa
A=(-1,3), B=(2, -5), C=(4,6) &0 A ot D$H5e BCS SSmostSarre
Gotd J5¢0p SDoEBeao

A=(-1,3), B=(2,-5), C=(4,6) then the equation of a line passing through
the point A and parallel to BC is

1) —1x-2y+17=0  2) 11x-2y-17=0 3) 11x-2y+17=0 4) 11x+2y+17=0
2 -1
= -1
A_(_l 3}gom A~ @ty S5)ch S8

2 -1
if A =(-1 3) then the transpose of the matrix A~ is
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43
24) '5: 5, '—7-' """""""" @& 33‘0‘5&5@&66 75 6‘5&) ...................
4 3 12 : ,
L are in H.P. then 7th term is....................
1 18
V= 2 = 3) 2 4) 4
25) AAB(;, AXYZos® AB=YZ, BC=ZX, AC=YX ©@00& .....c.uu........
If AABC, AXYZ; AB=YZ, BC=ZX, AC=YX then ...................
1) [(A=/Z 2) [A=/[X 3) [C=/[X 4)[B=[Y
7
26) (_3.+y) & 45 SEED = ..ovvvvnen
X
;
In the expansion (3+ y) ; 4th term is ....coeeveennnne
X .
3 4 4 3
y 4y 4y
1) 7C’°34'F 2) 7c3.3“.% 3) 7C;:3'"5 4 7C3.3%%3
27) -1—, 3 Saeerenr Ko SEIDBBE0 ...ocverereneees
< 2 ’ 13

The quadratic equation whose roots are; and 2 iS.ueeeeeeceenees
1) 4x* —8x+3=0 2) 4x*-8x-3=0 3) 4x’+8x-3=0 4)4x* +8x+3=0

28) 2,242, 4.......... BFRS® DS Si5Ew 64 ©HHB?
In the progression 2, 24/2, 4......... which term is 64?7

1) 9 2) 11 3) 12 4) 16
1 1 1 |
29) a?xa‘xa®x... = eeeeereenens
1) a 2) a? 3) 1 4) ©0
30) ACB, BC Awowd A=B &8 ..oovvvvvens .
If AcB,BC A then A=Bis ......cccccenee. property.

2) Symmetric; °HS

1) Reflexive; Ho°SES
4) Anti-Symmetric; (8°FS

3) Transitive; So(Eoed
(-3,2), (6,1) Dothde oo Y Bad Y-ofS0 azl)gé‘ polod.

31) . :
In what ratio Y-axis intersecting the line passing through the points
(=3,2) (6,1) 1S veoveeeverrennnes
1) 2:1 2) 1:2 3) 3:2 4) 2:3 @
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0N 435 BEEW ..o,

If (4,7), (1,4), (3,2) are the three vertices of a parallelogram then the
fourth vertex is ..................... |
1) 56) 2) (2,3) 3) (74) 4) (6,)

33) Bod &S Joagey AM.=9, HM.=4 wop®d GM.=........... gooos
A.M. and H.M. of two positive numbers are 9 and 4 then GM=...............

1 5 2) 36 3) 18 4) 6
34) x-2=5 &bty 5050 a8 TS Hory x Sot0.
B HOXFBTeD SHAPACD (T

There exists a real number ¥, atleast satisfies x—2=5. Write the statement
by using quantifiers ........,...........

)VXeR,Xx-2=5 2)3xeR, x-2=5 3)VxeN,x-2=54)IxeN, x-2=5|
35) A={30 0B DY (e Somgen ), B={10 508 DHBS vsves Soggen} ||
ood (A-B) N (B-A)=............
- If A={Prime Numbers less than 30} B={Natural Numbers less than 10}
then (A-B) N (B-A)=...............

1) {1.4689) 2) B )B4 {11,1317,19.2329) |{ -
It 5 3 |
36) X—-a i
X—a 3 3 3
1) 3Va 2) 58 3) E'\/; )57

37) f(x)% (bx+a)3 grA0DS S FRED ..evvvvnnnn
If f(x) is divisible by (bx+a) then the Remainder is ................
a -a -b b
1) f(EJ 2) f&) 3) f(:) 4) f(;)
38) % 5088m06® DSEA ewmiiory san8 & S8 SN @Y Swere Serdo.......

In a quadratic equation discriminant is negative number then the
nature of the routs are................

1) Realand Equal; s¥aren $0a Hsmren 2) Realand Unequal; arapen S0t exisme
3) Complex Numbers: *éoég Qdogygen 4) Negative Numbers; exoes éoaa;e»

39) X24+9x=22<0 LS ..covvvvvennn. : Solution of x>+9x-22<0 is ............

1) {x/-2<x<11} 2) {x2<x<11} 3) {x/-11<x<2} 4) {x/—2<x<—ll}!6;
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40) Aol S8, AT=-A wows Aek ... S BE,

If AT=—A then A is called ................ matrix.

1) Identity, S8y  2) Inverse; D885

3) Symmetric; i%"éa’) 4) Skew-Symmetric; ORPYS
41) y=—-x? SO°BODED ..oveennnn Frod® aoth.

The parabola y=—x2ljes ........... cerverens quadrants.

1) LI 2) LIV 3) LIV 4) 11,11
42) xeANB=...............

1) xegA SH0d% (and) x ¢ B 2) xg A S (o) x¢B

3) x¢A 8o (o)xeB 4 xgA o (o)xeB
43) 3x+y+5=0 $55¢0p wE50es® DEBD Behe FTOED =.....cennn-n..

The area of a triangle formed by the line 3x+4y+5=0 with co-ordinate

aXEeS 1S ..ceerurennen. sq.units

5 25 25 5
1 sl o —_ —
) 2 2 V% m

44) ab,con HBES® 9% G)

If a,b,c are in G.P. then (3) N

a

b a a c
45) Bod JErS (Bghessne Jregine AFS 2:3 @ond TP TP ghere

A1) - SR
The ratio of area of two similar triangles is 2:3 then the ratio of its

corresponding sides is ..........c......

1) 2:3 2) 4:9 3)J2:\3  4) 32
46) (4,-7), (1,-5) DotvHe o DY 3668y JErDE epep Jd
OSOPOTON ..vvvreerersrs

The Intercepts made by the line passing through the points
(4,-7), (1,-5) on the co-ordinate axes 1Suereenaerensanes

-13 -13 13 13 13 -13 -13 l:}_)
0 (22 2(35) a(L.2) o(F5
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wo¥B&S® n Sore Ingo 2n+3n2 wond o (B&S° tg =
Sum of the n terms in A.P. is 2n+3n2 then ty=

1) 17 2) 85 3) 23

(x+1) and (x-1) are the factors of x*+2x>+px-+q then the
values of p,q are ..............
1) p=-1,qG=2 2) p=2, q=-1 3) p=-2,q=-1 4) p=-1,q=-2

49) 380 ©oILwe ity 86.3 o ¥ @oddm Dend 45.5% athenre 54
© S ST Iadedod. IOV KBPoFsn T JKeD ..o

The mean of 10 observations is 86.3 by an error, one observation is
registered as 54 instead of 45.5 then the correct mean is ................

1) 85.55 2) 85.45 3) 854 4) 84.54

50) A @38 “RAMANUJAN MATHEMATICS CLUB”6® eg8so0 5208,
B 38 “SALUR”S® e55smwe 508 ewcwd A So& BE a8)ssHe ORI
BOHEDL BOR:+ververerrnens A

If ‘A’ is the set of alphabets in “RAMANUJAN MATHEMATICS
CLUB”, ‘B’ is the set of alphabets in “SALUR” then the number of
one-one functions can be formed from AtoB is ..............

1) 0 25 3) 14 470

200164 S0 BDedE 038 DB, §5m Rdodd,
98,9 205y Bes0es &go& 8 Sootiere wod
368 TRADN, 84N 308 Scxind”
o 5 56 ega,sm‘aaqﬁmm SR,

 eouos TOEIRI0E D BHTBE Ke5, trentomre

835 5093588,5 Deroscogen.

11037mwmw%
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